14)

vertical stretch of “ﬂ ;
D ={x|x> 0},
R={yly=0}

Y]

16)

vertical compression of Vx and
reflected across the x-axis;

D = {x|x >0},

R={yly=0}

y
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18)

vertical compression of Jx and
reflected across the x-axis;

D ={x|x > 0},

R={yly<0}

Ly

20)

#1 (10.1)
Pg 624 14-40even (no 34)

. ! B D= >0},
vertical compression of Vx and R = gll;; 1}5}
is reflected across the x-axis; -
D = {xx >0}, A ]
R={yly<0} el
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22)
translated up 2; translated left 4;
D = {x|x> 0}, D = {xjx > -4},
R={yly>2} R={yly>0;
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#
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24) 30)
translated down 1; translated left 1;
D ={x|x= 0}, D ={xx=-1},
R={yly>-1} R={yly>0}
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26)

translated up 1.5;



32)

translated left 5;
D = {x|x > -5},
R={yly>0}
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36)

vertical stretch of y = Vx :
reflected and translated down 3;
D ={x|x>0},

R={yly<-3}

1) 95

2) 1343

3) -5./7

4) 42

5) 8v5

6) V3

7) 572 +24/3
8) 3V/3

9) 724/3

N

38)
reflected across the x-axis and
translated right 1;
D={xjx=1},

R={yly<0}

Ay

#2 (10.3)
Pg 637
1-17

10) 96

11) 21+3./6
12) 5V10
13) 14.5+ 3415
14) 1115
15) 116
16) —/5
17) 3v2

40)
vertical compression

ofy= ﬁ and translated up 1
and right 2;

D = {x|x>2},

R={yly>1}

ry




